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Bp = 1868 line = MAGIC.183 , Chr = 5

breakpoint: 25830990 − 25831024 ler−0 hi−0
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Bp = 1870 line = MAGIC.183 , Chr = 5

breakpoint: 25853988 − 25854011 ler−0 mt−0
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Bp = 1871 line = MAGIC.183 , Chr = 5
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Bp = 1872 line = MAGIC.183 , Chr = 5

breakpoint: 26029027 − 26029126 col−0 rsch−4
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Bp = 1873 line = MAGIC.183 , Chr = 5
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Bp = 1874 line = MAGIC.183 , Chr = 5
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Bp = 1875 line = MAGIC.183 , Chr = 5
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Bp = 1876 line = MAGIC.183 , Chr = 5

breakpoint: 26373446 − 26373467 ct−1 col−0
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Bp = 1877 line = MAGIC.183 , Chr = 5

breakpoint: 26399318 − 26399331 col−0 bur−0
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Bp = 1878 line = MAGIC.183 , Chr = 5
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Bp = 1879 line = MAGIC.183 , Chr = 5
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Bp = 1880 line = MAGIC.183 , Chr = 5
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Bp = 1881 line = MAGIC.183 , Chr = 5
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Bp = 1882 line = MAGIC.183 , Chr = 5
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Bp = 1883 line = MAGIC.183 , Chr = 5
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